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DANCE/DRAMA/THEATRE
PAPER —1I

SPECIAL INSTRUCTIONS

1. Candidates are required to answer all the 25 questions in Part-1, which are
compulsory. They should also select any one from Part-II and Part-III and
answer all the 25 questions of that Part only. Each question carries two
marks.

2. Candidates are required to mark clearly on the OMR Answer Sheet, the Part
Number which they have selected.

PART -1
Common to Dance and Drama / Theatre
1.  Which one is not correctly matched ?

(A) Chari and Poorva Ranga (B) Dheera lalitha and Nayaka
(C) Alapadma and Samyutha (D) Trasya and Rangamancha

2. Match the Items in List-I with List-I1.

List-1 List-11
(@) Adi (@i Tala
(b) Prabhanda (i) Song Composition
(c) Vasantha (iii) Raga
(d) Matra (iv) Division of Tala
Codes
(@ ((b) (o (@
@A) (@) @) () 0
® O @ G) (i)
© @) () @) @)
O O @ @) @w)
3.  The term ‘Pusta’ is in :
(A) Angika Abhinaya (B) Vachika Abhinaya
(C) Aharya Abhinaya (D) Satwika Abhinaya

J—6508 2
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1. =7 9 O A BE WA §?
(A) = SR g & (B) R wiferan iR
(C) STAugHT AR HH (D) o 3R T

2. Gel-1% 93 gel-11 % &l 9 e

qa-1 -1T
(@) omfg () =
(b) FeH (i) G T
(c) o§d (i) T
(d) (iv) e o favsH
&< :

(@ B (© @
(A) @) () (@) ()
®) @ (@) @v) (i)
© @) @@ @) ()
D) @ @) @) Q)

3. ‘Uw’ viss o1 wAN S 9 fhw H gen 2
(A) T s (B) ek S
(C) emerd sifurra (D) wifereh afu
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Natya is supposed to have been created by :
(A) Bharata (B)
(C) Indra (D)

Wayang Kulit is the Puppet theatre form of :

(A) Japan (B)
(C) Sri Lanka (D)

Find the correct sequence :

(A) Sringara, Hasya, Karuna, Bheebhatsa
(B) Bheebhatsa, Sringara, Karuna, Hasya
(C

(D

) Hasya, Bheebhatsa, Karuna, Sringara
) Karuna, Hasya, Sringara, Bheebhatsa
Which one is the correct order ?

(A) Dhatus, Varnas, Gitis, Alankara

B) Varnas, Alankara, Gitis, Dhatus
Alankara, Varnas, Dhatus, Gitis

Gitis, Varnas, Alankara, Dhatus

Which one is not correctly matched ?

(A) Kalanidhi Narayanan and Abhinaya
B) Rukminidevi and Kalamkari

Amubi Singh and Maharas

Madam Menaka and Shama

‘Kummi” is a form of Dance :

A) Without Instrumental Music
B) With Instrumental Music
With Percussions

Without Percussion

Bramha

Patanjali

China

Indonesia
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(A)
©) ==

I pferd wqaett T foRee €2

(A) SHE
(C) i

T Y HE HY HA AR ?

(A)  HTR, BT, e, HHH
(B) E9eH, R, &0, B
(C) =&, S, %0, IR
(D) heUl, B, GTR, S

T Y HE HY HA AR ?
(A) g, 9, Tifd, 3TEHR
(B) Ui, TR, M, &g
(C) 3TciehR, Jyui, g, Tifd
(D) Tifd, =i, sTciehr, g

T T Bl A W1 T ¥ 2

(A) HEHY TRECE IR AR
(B) TUiiGal 3K FHemrer

(C) et g oIk wery

(D) TEH TR 3R &

‘T I T TR TG
(A) fom ama wfa &
(C) ¥9ent dfed
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10. ‘Theyam’ is a Dance form of :
(A) Andhra Pradesh (B) Karnataka

(C) Kerala (D) Tamil Nadu

11. In Kathakali Tati means :
(A) Costume (B) Beard

(C) Sets (D) Nose

12. Shishira Vadya means :
(A) String Instrument (B) Wind Instrument

(C) Percussion (D) All the above

13. Assertion (A) : The truly energetic will never be afraid.

Reason (R) : Because fear is the mental state of persons of low type.
Codes :

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

14. Assertion (A) : The mental states are the cause of the manifestation of the sentiments
in Poetry.

Reason (R) : All the poets are sentimental.
Codes :

(A) Both (A) and (R) are false

(B) Both (A) and (R) are true

(C) (A) is correct but (R) is false

(

D) (R) is correct but (A) is false
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10.

11.

12.

13.

14.

‘I T B UH T

(A) SAFY Y (B) die®h
(C) (D) dfYerrg
Hhell B Il ol HaeTsl 1 8 2

(A) ST (B) <@

(C) %™ (D) TIfEeRt
TR ey ot 379 €

(A) T @ (B) g arE
(C) Tkt (D) Swlie qeft

HeA (A) : T FHHS ATH HH SO L |

eh (R): il 949 7 YR & =afw ot arfdes feefq 7
FHe

(A) T (A) 3R (R) TeTd T

(B) THI (A) 3R (R) W&t 71

Q) (A) T € T (R) T g

(D) (R) && T W (A) Tod B

HIT (A) : 1A § qEfaer fefa wEi & sifireafs o1 wRo T
Teh (R): T i 9igs B

e :

(A) T (A) IR (R) TTerd €|

(B) =i (A) 3R (R) Tl Tl

(C) (A) T & T (R) 7Temd g |

(D) (R) 9@ T W] (A) T |
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15.

16.

17.

18.

19.

20.

Assertion (A) : Distinctive feature of Medieval Natyas is Predominance of Music and
Dance.

Reason (R) : There were no otherwise Practice of Music and Dance.
Codes :

(A) (R)is true and (A) is false

B) (A)is true and (R) is false

Both (A) and (R) are false

Both (A) and (R) are true

Which one is correctly matched ?
(A) Kalakshetra and Hyderabad
(B) Ravindra Bharati and Shantiniketan
(C) Vishwabharati and Shantiniketan

(

D) None of the above

)
)
‘Pwe’ is a form of :

(A) Indonesia (B) Japan
(C) Myanmar (D) Thailand

Author of Abhinaya Darpana is :
(A) Sarangadev (B) Nandi Keshwara
(C) Sharada Tanaya (D) Someswara

Who is Prashita Bhartrika ?
(A) Kali (B) Shurpanaka
(C) Urmila (D) Kunti

Which one is the correct order ?

(A) Bheema, Arjun, Yudishtira, Sahadev
B) Yudishtira, Bheema, Arjun, Sahadev
Arjun, Sahadev, Yudishtira, Bheema
Yudishtira, Sahadev, Bheema, Arjun



15.

16.

17.

18.

19.

20.

HYT (A) : TR ACHT I UGH AL HI 3R T A IS T |

ek (R): Gd 3R T o1 3119 3199 & o |

&< :

A) (R) 5@l T 3R (A) ToTd B
B) (A)G& ¥ 3R (R) ToId B
C) THi (A) 3R (R) e )

(
(
(
(D) <HI (A) 3R (R) ¥ 1

)
)

T O T HA B | ?
(A) HeTEd IR AR
(B) &= wRdl iR wifd fehe
(C) fowayrdt iR wifa fra
(D) Sw® H g T

i (Pwe) el ol T &Y § 7
(A) gSHferE

(C) H=HR

TR AT 1 oREeh i § 2
(A) WRTSE

(C) VST aa

TIFTAT WifieRt S8 | % € 2
(A) hIAl
(C) 3fHem

T § UEl HH i AR ?

(A) o\, 31ofA, gfafR, Teed
(B) IfufiR, «ftm, oA, weea
(C) 3TS[A, Weaa, giufly, o
(

)
D) 3JfufR, weea, fm, o1
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21.

22.

23.

24.

25.

Read the passage below and answer the Questions that follow based on your
understanding of the passage.

Unquestionably one of India’s greatest playwrights is Kalidasa, whose dates and
life are still uncertain. Scholars hold widely differing views about the period in which
Kalidasa lived and worked. There are those who place him as early as 150 B. C,,

others place him in the late fifth century A.D., a span of more than five hundred years!
A widely held belief is that he was one of the nine “jewels” of the court of King

Vikramaditya Maurya, who is thought to have reigned around the midfirst century

B.C. Keith places Kalidasa in the early to midfifth century A.D. at the court of
Chandragupta II of Ujjain.

Very little is known of this great literary figure. He is thought to have settled in
Ujjain, although his work reflects a wide knowledge of Indian geography and familiarity
with terrain that one might have acquired only through travel. He is thought to have
been a Brahman by caste and a worshipper of Siva, whom he honours in the benedictions
to his plays.

Who among the following was not a predecessor of Kalidasa ?
(A) Saumilla (B) Bhasa
(C) Kaviputra (D) Sudraka

The author primarily has dealt with :
(A) Dramas of Kalidasa (B) Period of Kalidasa
(C) Cast of Kalidasa (D) None of the above

Who introduced Four ‘Ritis” based on the Geography of India ?
(A) Kalidasa (B) Ashwagosha
(C) Bharata (D) Abhinava Gupta

Who rigidly followed the Natya Sastrik tradition while writing plays ?
(A) Kalidasa (B) Bhasa
(C) Vishnudas Bave (D) Rabindranath Tagore

The ancient city of Ujjain is in :
(A) Himachal Pradesh (B) Andhra Pradesh
(C) Uttar Pradesh (D) Madhya Pradesh

J—6508 10
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forspfee A & @R & ‘TR’ § 9 T 9, T o . ot yeelt vrarse) & 7 o e fawman
o1 Y A HITR T THI IS o TS =6 5 & I 1 99 T4 § TS 999
Trerelt STt T EL. S YT ek AT S R |

39 T HifechR & Heitl § agd H SRl fHerd! €1 TH1 9 S § fob 3 3= 8
Y & Ty IR WISt H R % e U 9 9 9fee w6t S forga et faerdt § 9w
AT o GRT & UTH okl T Hehll € | U1 T8 <1 © fob o Sfa o sireror & 3iR forg & Sures 9,
fSrgent 6 o799 A1ehi St HITeTshTaT & fore wgfa =t T

21. TTH ¥ HIF HIfcIer 1 Jaadt T o1 ?

(A) e (B) 9
(C) wfagA (D) s
22. @S A gEId: 30 o foRgent ==t @ §72
(A) IR & ek (B)  ShITCTGTH Al whIed
(C) hIfcIe™ o 9= (D) 3w H 9 forelt o1 T2

23. UNA % A W Mea =R it g 9§ fhae yRy i off?
(A)  wiferer™ (B)  STYEN
(C) (D) SATYTeTTE

24, 3T 9 fHEA ekl o T H AT AT 9 S gedl | qrer TRt o ?
(A) HIfeTe™ (B) wE
(C) Tower el (D) Yo" &R

25. S I W el e ¢
(A) fed=a g (B) 3Ty IW
(C) WU (D) T W
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26.

27.

28.

29.

30.

PART -1II

DANCE
The form Terukkuttu belongs to :
(A) Tamil Nadu (B)
(C) Kerala (D)

Koothu means :
(A) Marshall Art (B)
(C) Pure Dance (D)

Kattian Karan is :
(A) Narrator (B)
(C) Actor (D)

Which one is not correctly matched ?
(A) Kathak and Sarangi (B)
(C) Kathakali and Eddekka (D)

Nagaland
Andhra Pradesh

Dance Drama

Ending of a Dance

Director

Dancer

Bharatanatyam and Mridangam

Parai and Tagore Dance

Match items in the List-I with that of List-1I :

List-1
(a) Kalaripaittu (i)
(b) Mohiniattam (if)
(c) Gutipuya (iii)
(d) Shivananda (iv)
Codes

(@ ((b) (o (@
(A) @) @) @ )
(B) Gv) (@) (D) ()
(© G @) @ G
(D) @) (@) @) @Gv)

J—6508 12

List-I11
Orissa
Kerala
Lasya

Tanjore



26.

27.

28.

29.

30.

T

"oz’ T T U el T2
(A) Ty (B)
(©) (D)
Y 1 F G 7?2
(A) WRIE 3 (B)
© Y& T (D)
TR 370 § ]2
(A) d@T=h (B)
(C)  sfya (D)
T O U A formem TE §2
(A) HIFH AR IR (B)
(C) el ST g (D)
Tedt-1 W3l ol geil-11  ¥al 9 fiems

gei-1
(a) HaNTEY (i)
(b) et o7gH (1)
(c) T (iid)
(d) TRremEe (iv)
He :

(@ B (© @
(A) () (D) @) (@)
(B) (v) (@) (i) (i)
(© ) @) @) @)
(D) @ @) () (@)

13

Y W

T Aeh
T Skt HHIH

AT SR geEn
W SR TR T
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31.

32.

33.

34.

35.

Match items in the List-I with that of List-1I :

List-1 List-1I
(a) Wayang (i) Shoes
(b) Ballett (i) Mask like make-up
() Yakshagana (iii) Puppet
(d) Kathak (iv) Ghagra
Codes

(@ () (o (@)
(A) @ (@) 3D @)
(B) @) @ () G)
(© Gv) (@) @) @
(D) G) @@ 3D @)

Which one of the following is correct order ?

(A) Udaya Shankar, Kelucharan Mahapatra, Ram Gopal, Uday Shankar

B) Balasaraswathi, Uday Shankar, Ram Gopal, Kelucharan Mahapatra
) Kelucharan Mahapatra, Ram Gopal, Uday Shankar, Balasaraswathi

D) Kelucharan Mahapatra, Balasaraswathi, Ram Gopal, Uday Shankar

Which one of the following is in correct order ?

(A) Mallika Sarabhai, Swathi Tirunal, Wazid Ali Shah, Vijayanthi mala Bali
B) Wazid Ali Shah, Swathi Tirunal, Vijayanthi mala Bali, Mallika Sarabhai
Mallika Sarabhai, Vijayanthi mala Bali, Wazid Ali Shah, Swathi Tirunal
Swathi Tirunal, Wazid Ali Shah, Vijayanthi mala Bali, Mallika Sarabhai

Sadir Attam is the root of :
(A) Kathak (B) Mohini Attam
(C) Bharatanatyam (D) Kuchipudi

Bhagawata mela is the form of :
(A) Andhra Pradesh (B) Arunachal Pradesh
(C) Meghalaya (D) Tamil Nadu

J—6508 14



31.

32.

33.

34.

35.

Tedt-1 W3l ol geil-11  ¥al 9 fiemsu

ge-1 -1T
(a) amE @) S
(b) oA (i) @I S Heh-379
(c) F&H (iti) HSYAAT
(d) wHTR (iv) E=TE
g

(@ B (© @
(A) @ @) @) Q)
(B) @) @) @) ()
Q) (v) () (D) (D)
(D) G) @ @) ()
TTH | IF 9 HH T 2

(A) SSHYRY, Hea HRIUTH, THIITS, AT
(B) STCTHTE, IS, THIITS, o= HaTaT
(C)  SheTeI TR, T, STLH, STTHEsl
(D) He[=RA HETdTS, STereReard, T, Seaeieht

T8 Y A 91 HY & 7 ?

(A) TfceTeh TR, T TeTe, JSE STel I8, oSt e et
(B) afSIg TeH UM, TG qeTel, SSTa=il HIeT siTet, HieeTeh TRIMTE
(C) Hfceren! ARIHTE, SSE=N A Siell, Ifsig 3Teft w18, Wfd e
(D) I TEATE, NG STl I8, SSTa=it HIeT S, Hiceishl TRIHTE

IR 37eH 398 ¥ forreht a1 ©72

(A) IR (B) et a7eH
(C) A=A (D) FHferget
TS Al hal ol &9 7?2

(A) 3T T (B) 3TEUIEA Uo¥
(C) Heme™ (D) dferTg

J—6508 15
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36.

37.

38.

39.

40.

41.

Assertion (A) : Devadasi’s mainly Danced to develop a Classical Dance form.

Reason (R) : Dasiattam is one of the roots of Bharatanatyam.
Codes :

(A) Both (A) and (R) are false (B) (A) is false but (R) is true
(C) (R) is false but (A) is true (D) Both (A) and (R) are true

Assertion (A) : Modern Dance is developed from Indian Dance.

Reason (R) : Because India has many Classical Dance forms.

Codes :

(A) (A) is false but (R) is true (B) (R) is false but (A) is true
(C) Both (A) and (R) are true (D) Both (A) and (R) are false

Which one of the following is in correct order ?

(A) Basanta rasa, Nitya rasa, Kunja rasa, Maha rasa

(B) Kunja rasa, Maha rasa, Nitya rasa, Basanta rasa
(C) Maha rasa, Basanta rasa, Kunja rasa, Nitya rasa
(D) Nitya rasa, Basanta rasa, Kunja rasa, Maha rasa

Which one of the following is in correct order ?

(A) Kathakali, Ramanattam, Krishnanattam, Kudiyattam
(B) Kudiyattam, Krishnanattam, Ramanattam, Kathakali
(C

(D

) Kathakali, Ramanattam, Krishnanattam, Kudiyattam

) Ramanattam, Krishnanattam, Kudiyattam, Kathakali
The dance magazine published by Chennai is :

(A) Shruti (B) Nach Ghar

(C) Dance (D) None of the above

Assertion (A) : Tagore’s Dance idiom is purely based on Vaishnavism.

Reason (R) : Because most of his Dance-Dramas are based on Gita Govinda.
Codes :

(A) (R) is true but (A) is false (B) (A) is true but (R) is false

(C) Both (A) and (R) are true (D) Both (A) and (R) are false

J—6508 16



36.

37.

38.

39.

40.

41.

HeA (A) : STl A T&a: S T 9 &l fasfaa & & foaw 3 foha
Tqeh (R): SISTEA WRaeM T 4 § § §

&< :
(A) T (A) 3R (R) T 1 (B) (A) 7o § W] (R) Tl T
(C) (R) 7TeTd § W] (A) Tl | (D) <HI (A) 3R (R) &t €1

HIT (A) : MYFF T H1 THE IR T F g2 T
Teh (R): i 9YRA T &g AfMSd 97 &9 21

&< :

(A) (A) TeW § T (R) T B (B) (R) e § U (A) TR ¥
(C) TFi (A) 3 (R) W& €1 (D) 3 (A) iR (R) 7o E 1
T 9 GEl HH B R ?

(A) JEIW, AW, W, 7™ (B) S W, Hal W, F1ed W, 9/d ™
(CQ) W W FIW @ (D) F W, o6 W, F9 W, 781 ™

Y 9 i |1 hY TR e ?

(A) hYehefl, TAAEH, FOMEH, HEHAH
(B) HEMIEH, FUHgH, THAEH, herhell
(C) ke, THTH, FUMEH, FEHAH
(D) HTgH, FOUHH, HEAEH, HUwTl

=S 9 YIS et Jo Uieht hie | § 2
(A) gfa (B) T
© T= (D) Su® ¥ G HrE T

HYT (A) : TR F TA 1 A TS T § Jo0EaR T STERA §
qeh (R): i Sk AR J-1esh TMd g W enia T

&< :
(A) (R) ¥ € T (A) Terd B (B) (A)T& T W (R) T 2
(C) =i (A) 3R (R) W& €| (D) 3 (A) 2R (R) T F
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42. The name of Dr. K. Venkatalakshamma is identified with :
(A) Dandi Dance (B) Mysore style of Abhinaya in Dancing
(C) Dance Director of Kerala (D) Modern Dance

43. Match items in List-I with that of List-II :

List-1 List-1I
(a) Bihu (i) Japan
(b) Lavani (i) Assam
(c) Bugaku (iii) Maharashtra
(d) Ghoomar (iv) Rajasthan
Codes

(@ ® () @
(A) @ @) @ (1)
(B) (@) @) @ (v)
(© (@v) @) @ (i)
D) @ @) @G (v)

44. Which one of the following is the famous style of Bharatanatyam ?
(A) Pandanallur style (B) Tiruvarur style
(C) Ananthapur style (D) Chettinadu style

45. Match the items of List-I with that of List-II :

List-1 List-11
(a) Terukkoothu (i) Andhra Pradesh
(b) Chakiar Koothu (i) Karnataka
() Burra Katha (iii) Kerala
(d) Doddata (iv) Tamil Nadu
Codes

(@ () (o (@)
(A) Gv) (@) @ ()
B) @) @@ 3§D ()
© G@v) @ @) ()
(D) @) @ 3 @)
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Tl o, SheTcAeTH o1 T STH U ordeh H1e Te=mT ST § 2
(B) oA H HYL et A Aw
(C) & % I v (D) eMyfs T

(A) =€ T

42.

Tedt-1 AR Gefi-11 & Aei &l fHarsu |

43.

gait-11
ST

()

STHH
HeNY
STEATT

(i)

(iii)
(iv)

(d)

N

N

N

~— — ~— ~—

~— ~— ~— ~—

TH § Y &) 9fag el @i | 82
(A) YeregR Seft

44.

YR et

(©

Tedl-1 WRI ! gelil-11 o Tl &l fHasu |

45.

@)

N

N

N

~— ~— ~— ~—

~— ~— ~— ~—

~— ~—~ ~—~ ~—~

P.T.O.
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46.

47.

48.

49.

50.

Which one of the following is in correct order ?
A) Chambada, Champa, Tripuda, Panchari
B

~—

(
( Champa, Tripuda, Chambada, Panchari
(C) Chambada, Tripuda, Panchari, Champa
(D) Panchari, Tripuda, Chambada, Champa

Assertion (A) : A Classical Dance is both a Ritual and Religion.
Reason (R) : It has its root in the folk forms.

Codes :

A) (A) is true but (R) is false

B) (R) is true but (A) is false

~—

(
(
(C) Both (A) and (R) are true
(

D) Both (A) and (R) are false

Biju is a folk dance form of :
(A) Himachal Pradesh (B) Uttar Pradesh
(C) Tripura (D) Arunachal Pradesh

Assertion (A) : Dance has Therapeutic value.
Reason (R) : It can cure all ailments.
Codes :

A) (A) is true but (R) is false

B) (R) is true but (A) is false

~—

(
(
(C) Both (A) and (R) are false
(

D) Both (A) and (R) are true

“Karna, Common Code of India and Indonesia” is written by :
(A) Nemichandra Jain (B) Phillip B. Zarrilli

(C) Dr. Padma Subramanyam (D) Kapila Vatsyayan
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46. TTH 9 N WG HAF?
(A) =, = 1, e, der
(B) =i, TIge, =ieer, geml
(C) e, Ye, 9=, =W
(D) d=, g, e, =

47. HIF (A) : WS T FHFUS 3R o < T
qeh (R): ST g @ I ¢
He
(A) (A) TE € T (R) T g |
(B) (R) W& T W] (A) T g |
(C) < (A) 3R (R) Tt 1
(D) EHi (A) 3R (R) Tord 1

48. S| ThIA HT TH ¥Y T :
(A) feam=a uew (B) W W
(C) fagu (D) T Ye®

49. WA (A) : T F Fafercda g 7
qeh (R): 38 G AN 1 STAR S|
He
(A) (A) H&l 8 W (R) e &
(B) (R) W&l T W] (A) T
(C) T (A) 3R (R) Terd ¥ |
(D) EHi (A) 3R (R) T €1

50. ‘<hUl, A HIS AT fed wwe TS’ 3 9 fom & g Wea B2
(A) =" SF (B) frefi o, e
(C) Sl =1 goreuvgH (D) ShiYell aTceTa
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26.

27.

28.

29.

30.

31.

PART - III

DRAMA/THEATRE

Most Important Element of Drama is :
(A) Stage (B) Light
(C) Plot (D) Music

Sadadaruka is found in :
(A) Greek stage (B) Ancient Indian stage
(C) Modern Indian stage (D) Marati stage

Which form is based on Dance ?
(A) Melodrama (B) Opera
(C) Ballett (D) None of the above

Which one of the following is correctly matched ?

(A) NOH stage and Trap door

(B) Proscenium Theatre and Fly gallery
(C) Roman stage and Orchestra
(D) Greek stage and Tormentor

Which one is not correctly matched ?

(A) Stanislavsky and My life in Art

B) John Gassener and Producing the Play
William Shakespeare and Living Stage
Allardice Nicoll and The Theory of Drama

The name of Bharatendo Harishchandra is associated with :
(A) Bengali Theatre (B) Marathi Theatre
(C) Hindi Theatre (D) Tamil Theatre
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26.

27.

28.

29.

30.

31.

HIT - 111

e / THe
e § HaId HE@qul 370 o A T T2
(A) #H= (B) Ueh¥I
(C) HUMH (D) i
TG Fal e § 2
(A) iR T (B) T YR e
(C) TYfTeh wRd™ T (D) U3l T
T W HIA G EY T TSR B2
(A)  stfadres (B) QU
(C) (D) 3S9Yw H 4§ &g Tl
T O TE HA B | ?

(A) ‘At TTHE iR TUER
(B) T TTHH IR weE Ferd
(C) A TrHa AR sAfhegt
(D) i g 3R TRHR

T O TE 0 i 91 T 2

(A) TAIFTEATSER SR HIE TEE 57 3T
(B) S T iR Uregfd g =

(C) faferaw dedier siR fafam ==

(D) eierersy e iR g e’ o1fh g

TRA=g efees o1 919 378 ¥ fordes @ et s § 2
(A) STTA THE (B) HUS! T
(C) &t tmH= (D) dfta T

J—6508 23 P.T.O.



32.

33.

34.

35.

Which is the correct order ?

(A) Aristophanes, Sophochles, Euripides, Aeschylus
(B) Aristophanes, Aeschylus, Euripides, Sophochles
(C) Aeschylus, Sophochles, Euripides, Aristophanes
(D) Sophochles, Aeschylus, Aristophanes, Euripides

Which one of the following is in correct order ?

(A) Seneca, Plutus, Marlo, Terence
(B) Terence, Marlo, Plutus, Seneca
(C) Marlo, Plutus, Seneca, Terence
(D) Seneca, Plutus, Terence, Marlo

Assertion (A) : The Drama is not written. It is set.

Reasoning (R) : Because Dramatist does not speak.

Codes :

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(D) (R) is true but (A) is false

Assertion (A) : Street Theatre is mostly an educational one.

Reason (R) : It has social obligation.
Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are false

(C) (A) is true but (R) is false

(D) (R) is true but (A) is false
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32, TEHIATR BT IAAL?
33, TH AT HH P AR?

34. AT (A) : TeH FHI T TGl Bt W | T Tk faf¥ny =ewen (I2) T
qeh (R):  Fifeh ATCHheR & sierdl |
FHe :
(A) T (A) 3R (R) T 1
(B) =i (A) 3R (R) Tl Tl
Q) (A) T € T (R) T |
(D) (R) W&l & 9% (A) e €|

35. R (A) : TES (U) TrHE g e 2 ¥
Teh (R): UG GrIfSTeh sNeAamd gl 2|
FHe
(A) T (A) 3R (R) 5§

(B) i (A) 3R (R) Tord 1
() (A) W& ® T (R) T T |
(D) (R) 5@ T W (A) T |
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36.

37.

38.

39.

40.

Match List-1I with that of List-II :

List-1 List-1I
(@) Oedipus @i  Villain
(b) The Macbeth (ii) Prince
() Hamlet (ii) King
(d) Iago (iv) Warrior
Codes :

(A) @) @@ (@v) (i)
(B) @) (@v) @) @)

© @ (v) @) ()
(D) @) @) @) G

Puppet Theatre of Japan is known as :
(A) Kabuki (B) Bunraku
(C) Bugaku (D) NOH

Topeng is the Mask Dance Theatre of :
(A) Indonesia (B) China
(C) Thailand (D) Myanmar

Which one of the following is one of the Fundamentals of Directions ?
(A) Composition (B) Music
(C) Sound (D) Sets

Which one of the following is in correct sequence ?

(A) Cherry Orchard, Dolls House, Three Penny opera, Father
(B) Father, Three Penny opera, Dolls House, Cherry Orchard
(C) Three Penny opera, Dolls House, Cherry Orchard, Father
(D) Dolls House, Father, Cherry Orchard, Three Penny opera
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36.

37.

38.

39.

40.

gel-1 gait-11
(a) Afeud () EeTEw
(b) T HEwaY (i) TSHIR
(c) AR (i) T
(d) s (iv) T
%<

@ b (© @
(A) () (@) (@v) (i)
(B) () (v) () (@)
© () (@v) (i) (i)
(D) (i) @) @ (@Qv)

UM % H3Yael TTHH <l T el Sl § 2

(A) hTHT (B) 9P
© ImF (D)

AT 3 G foprdept gaier T T ©2

(A) ZSHfRmET (B) =M
(C) emE (D) =R
T 9 1 1 T STYRYd 9@

(A) T (B) wfta
(© = (D) W=

T § UEl HH i AR ?

(A) =0 SATEE, iy 7=9, off T 31ftw, et
(B) TR, off Ut 31T, <few g=y, a4 SiEe
(C) ot Tt 3T, =fed 3Ry, I S, hict
(D) icd BRH, Higy, = sAr=e, off T S1aw
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41. Assertion (A) : Bertolt Brecht, like Piscator is a descendant of Naturalism.
Reason (R) : For him it was a question of enthroning the Scientific Principle.
Codes :

(A) (A) is correct but (R) is false

(B) Both (A) and (R) are false
(C) Both (A) and (R) are right
(D) (R) is correct but (A) is false

42. Match List-I with that of List-II :

List-1 List-1I
(a) Nora (i) Hamlet
(b) Ophilia (i) Oedipus
() Zokastha (iii) Othello
(d) Desdimona (iv) Dolls House
Codes

(@ ((b) (o (@
(A) ) @) 0 )
® v O @ ()
© () O @) @)
D) (v @) @) @

43. Which one is in correct order ?

(A) Intonation, Emphasis, Pauses, Pronunciation

(B) Emphasis, Pauses, Pronunciation, Intonation
(C) Pronunciation, Intonation, Pauses, Emphasis
(D) Pauses, Intonation, Emphasis, Pronunciation

44. Which one is not correctly matched ?
(A) Tamasha and Maharastra

(B) The term kaku and Satwika Abhinaya
(C) Samyuktha Hasta and Anjali
(D) Sangya Balya and Chandrashekar Kambara
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41.

42.

HIUT (A) : TR H1 Aifq shdle I THhidare & TSR B
qeh (R) : ok | Aes T <l wfafBa s o1 7 o
&<

(A) (A) 5 ® T (R) T T |

(B) THI (A) 3R (R) TTerd ¥ |

(C) =i (A) 3R (R) W&l €1

(D) (R) HE & W (A) 7o &

Tefl-1 wa1 1 gei-11 9 e |

g1 gait-11
(a) (i) TR
(b)  HifRfcT (i) eAifed
(c) SHrRrET (iii) o=
d) e (iv) <icd B=d
%<

(@ b)) () @
i) () ) (
O @
@ @) (@{v)
) @) (
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45.

46.

47.

48.

49.

50.

Assertion (A) : In Expressionistic Dramaturgy the individual is isolated.
Reason (R) : Because Expressionism is not personal.

Codes :

(A) (A) is true but (R) is false

B) (R) is true but (A) is false

Both (A) and (R) are true

Both (A) and (R) are false

Which one of the following is in correct sequence ?

(A) Shakuntala, Urubanga, Shariputra prakarana, Mriccha Katika
(B) Mriccha Katika, Urubanga, Shariputra prakarana, Shakuntala
(C

(D

) Shariputra prakarana, Urubanga, Shakuntala, Mriccha Katika
) Shakuntala, Urubanga, Shariputra prakarana, Mriccha Katika
Badal Sircar is associated with :

(A) Environmental Theatre (B) Jatra

(C) Poor Theatre (D) Third Theatre

Well known Actress and Director B. Jayashree hails from :
(A) Maharashtra (B) Karnataka
(C) Chennai (D) Bengal

Apron means :

(A) Extended portion of the stage into the Auditorium
B) Main stage

Back stage

Green Room

In spot light we find :

(A) Prism (B) Plano convex
(C) Plano concave (D) None of the above
-00o0-
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45.

46.

47.

48.

49.

50.

HIT (A) : ATIHTAHSE AN | =AfH gk W&l 2|
ek (R): il AT Safes T2 %1

g

(A) (A) H& € T (R) Terd (B) (R)H& U (A) 7T 2|
(C) <Hi (A) 3R (R) w& €1 (D) <M (A) 3R (R) TTerd |
T Q WE HH HIA W R?

(A) Ve, AT, FIYS JehUl, Josehideh
(B) ToIh{eehe], ST, WG JeHTU, et

(C) HIRgS Gehul, ST, Iehael], Jesehicht
(D) STehde], ST, TGS Tehlvl,, JoSehideht

e TR 3 | e w1 93 772
(A) dReRITETS T (B) S
(C) YW ferdx (D) = foReR

S-A Sl o frderes . st we @ 2

(A) HeRE (B) Wl

(C) = (D) =T

@"TEF[?:T?JQ%\':

(A) Y& H T 1 a1eR fehar gaT vm

(B) H&A UHA

(C) +9eA

(D) Y= wel

AR H 30 F MR ?

(A) foem (B) I o

(C) I SiTha (D) 3T H | *E
-00o0-
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Space For Rough Work



